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TILAK MAHARASHTRA VIDYAPEETH, PUNE 
BACHELOR OF BUSINESS ADMINISTRATION (B.B.A.)   

EXAMINATION: MAY- 2024 
SEMESTER - III 

Sub.:  Business Mathematics (BBA15-314)  

Date : 30/05/2024 Total Marks :  60              Time: 2.00 pm to 4.30pm 
 

Instructions: 
 
1)  All questions are compulsory. 
2)   Figures to the right indicate full marks. 

 

Q. 1. Choose the most appropriate option. (05) 
           1.  1/x is derivative of ________  .  

 a)   X b) –X  
c)    cos x               d) log x  

2.      A matrix is a rectangular array of numbers arranged in ____________ and columns .  
 a)   row b) verticals  

c)  table         d) line  
3.  a, a+d, a+2d are three terms of _______ progression .  

 a)   Arithmetic progression b) Geometric Progression  
c)   Harmonic Progression            d) Trigonometric Progression  

4. x + y + z is a _____________ polynomial.   
 a)   Uninominal  b) Binomial  

c)    Trinomial              d) many moils          
5. 2x + 3y = 9, y - x = -2 then (x, y) = __________ .  

 a)   (-3, -1) b)(-3, 1)  
c)   ( 3 ,1 )               d) (3, -1)  

    
Q. 2. State True / False (05) 

1. 1,2,3, ... is G.P.  

 
a) True b) False  

2. 5x+2y=8 and 9x-5y=23 are the two linear equations.  

 
a) True b) False  

3. A is a matrix then 2A is scalar matrix .  

 
a) True b) False  

4. A set containing no element is called empty set.  

 
a) True b) False  

5. A + (-A) = O  

 
a) True b) False  

 
  

Q. 3. Write Short notes on (Any Three) (15) 
1. Set Theory   
2. Probability  
3. Integration  
4. Progression  
5. Matrix   

   
 Q. 4.     Answer in detail (Any Two) (20) 

1. 2000 students appeared for Business statistics while 2800 students will appearing for 
Business statistics and Business mathematics then how many students have backlog of 
Business statistics? Find the percentage of backlog students.  
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2. Find the sum of the series 1 + 3 + 9 + 27 +…… + to 10 terms.  

3. 
If    A = 








45
31

,B = 







05
12

 find AB and BA. Is AB = BA 
 

4. 
561164 23 +−+∫ XXX dx 

 

   
 Q. 5.    Case study  (15) 

 

Matrix A = 
















−
−

−

213
522
401

 

 

 Question  
 1) Find the Miners   

 2) Write adjoint  

 3) Estimate the Inverse of the given Matrix .   

_________________ 


	SEMESTER - III

